Gl & AF & B A A
S0 & LB A
2=X/ALK3
Ots= X2
A28 B5 - 84 )
B - 2A - Y. B9 (3H) - HEAY - BES 04l &k o e 2t
Xl 2t 5,535,971 4,869,460 666,511
=2 230,507
J| 1,444,365
Al 3,861,099
A48 25 -4 4,368,854 3,754,817 614,037
= 230,507
J| 1,444,365
Al 2,693,982
IE=X A& 256,058 244,658 11,400
ols=Eia 89 50,510 44,006 6,504
308 At XI X S0l & 50,510 43,006 7,504
11 SII2S0lst AR HI 50,510 43,006 7,504
OFAEA ™ 50,510,000& 50,510
OtsIHEsAY 49,679 44,783 4,896
201 L Bt2 49| 5,160 4,800 360
01 At 22| 8l 4,800 4,440 360
OEEZ M&E S 2,800,000& 2,800
OZ A=Y & A 2,000,000& 2,000
02 33294l 360 360 0
OMSRAH A0 3,000& 10 120 & 360
202 0 4l 1,760 1,760 0
01 2ol 1,760 1,760 0
OaE & delXN3AAY &l 1,760,000 1,760
206 M = H| 4,224 2,112 2,112
01 MZdl 4,224 2,112 2,112
O0ts sZ=z)d M= e 2
5,500 *32H *24 3| 4,224
301 et &3 38,535 36,111 2,424
09 SALAHIXI&A S 591 591 0
OAtdlale & 591,000 591
12 JIEt2 432 37,944 35,520 2,424
oagd &X 40,6003 x10Y *52F 21,112
ogdazadgR & 40,600& #3271 & *103] 12,992
O0ts nNsZz 40,000& *12%=%83] 3,840
Ots - JIE MelXl= 155,869 155,869 0
206 M = 4| 15,000 15,000 0
01 MZ 4l 15,000 15,000 0




251273
Ots=X2
ALNE 25 - 84 (crel:dg)
A3 - 2N - ZB (AN - HRAY - BES Ol &t o o H RS2
oY MeXZ (B0 M2 € =7 7
6,000, 000& 6,000
O#eldMA & &7 2L (MP | -112 188)
9,000, 000& 9,000
301 et 3 140,869 140,869 0
09 #HALAHIXI& 3 589 589 0
OdelxigZz 08 L Atdllale MdHl &
589,000& 589
12 JIEt2 43 140,280 140,280 0
OJIEXZAN XA 70,0003 x50t = *123] 42,000
O0tsoI=XZ At 23X 32,000 x50 123 19,200
O0ts=0IXIgA BsX3 32,000 *b5H *123] 21,120
O0tss2xZ A B2sX&A 32,0003 +30E x123] 11,520
O0tse XS AL XA 32,0008 +30E »123] 11,520
Oorsdel2siEAF XA 32,0008 +30H »123] 11,520
O0tsdHXIZAt BsX&A 32,0003 10 #453| 14,400
O0sSEHIZ AL 2SKHA 60,000& *8 1 E+103] 4,800
ORI ZA 25K HA 140,000& *31 & +103] 4,200
ots=X XlI& 354,284 135,510 218,774
= 200,659
Al 153,625
ANE - HAasS0ts SsXXE 87,926 87,746 180
201 L Er2 | 4,886 4,826 60
01 AFR2teldl 1,486 1,426 60
OA40tsItE 2201 S5 7 150, 000& 150
OAlIE0tSatE 2elZ2 08 2 Xdl 88,0008 128 1,056
ONMEOsS E2(HADX) W= 280,000& 280
03 #At2EHI 3,400 3,400 0
OAl40ts stitE IHEME 85,000& »40H 3,400
202 o4 Hl 3,160 3,160 0
01 =2 LHO HI 3,160 3,160 0
OANEZR =& 3,160,000& 3,160
203 Y =&l 3,600 3,600 0
03 Al M F=&H LA 3,600 3,600 0
O0tsEXAY =& 3,600,000 3,600
206 M =8l 4,500 4,500 0
01 M= Hl 4,500 4,500 0




251273
Ots=X2
ALNE 25 - 84 (crel:dg)
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
O2SMEIE $E4eXlzg Z208 s 2
5,6813 66 123 4,500
301 LEtE2EEZ 21,780 21,660 120
09 HALAHIXI& 3 5,700 5,700 0
OAlHd0ots &0ts JIEME 142,500 »40H 5,700
12 JIEt2 43 16,080 15,960 120
OSSHEINEOs LYEACUXNZA BSKE
16,080, 000& 16,080
307 2120l A 50,000 50,000 0
11 M =XRAEE R 50,000 50,000 0
OAlE0ots delzd A 2 I=2Hl X3 (50Y)
50,000, 000& 50,000
AMAOts HEXI& 9,440 14,400 A 4,960
201 L B2 F dl 9,140 9,140 0
01 At 2telbl 9,140 9,140 0
OANME0ts HEHEds s TAs=EsS
8,700,000& 8,700
ONEIER 2AHAN F&2ds s TAsE
440,000& 440
301 LetE2EN 3 300 300 0
09 HALAHIXI& 3 300 300 0
OXgX& Arellalel & ws syl 300,000 13 300
ZAEXIs0ots HE XA 48,750 33,364 15,386
= 34,125
Al 14,625
308 MXIHMSOIE 48,750 33,364 15,386
= 34,125
Al 14,625
01 AXESHHINEES 48,750 33,364 15,386
OZHEXNs0ts XEXJ Atdl2elMelA
48,750,000& 48,750
= 34,125
Al 14,625
E2SE20s FHAH SEMUA FA 208, 168 0 208, 168
= 166,534
Al 41,634
307 2120l A 208, 168 0 208, 168
= 166,534




S5 252X 785
2 M OIE=EX
& M AUIE Bs -84 (chel:&&)
ARG - 2A - B - BA(AA) - HRMY - BES 0l &t o e HRE2
307 212t01 & Al 41,634
11 AMSIEXNALEES 208, 168 0 208,168
2SEI0s FHIAE SSNEAAMY 2
208, 168,000& 208, 168
= 166,534
Al 41,634
OtS ST Ol 2 A 3,758,512 3,374,649 383,863
= 29,848
Il 1,444,365
Al 2,284,299
Ot Ol YAt 119,370 112,550 6,820
201 L Bt2dH] 115,370 108,550 6,820
01 AbR 22l 113,470 106,650 6,820
ZA=E 100, 000& «5002! 50,000
Ootsstug 2= 54,150,000& 54,150
OO0ISXZA0E 4 OISESHIII2 ZAMIS HME
- 3,320,000 3,320
O0tssXNAARSE AR Fo2Y
6,000,000& 6,000
03 A2 HI 1,900 1,900 0
OootssHu g & & 2t A JHAl
1,900,000& =14 1,900
202 O dl 4,000 4,000 0
01 =W bl 4,000 4,000 0
OOtSS MU LAY =& =Z I 4,000,000& 4,000
ANEots2sdEzl2 2 2,571,140 2,178,186 392,954
J| 1,285,570
Al 1,285,570
307 gl2tol & 2,571,140 2,178,186 392,954
J| 1,285,570
Al 1,285,570
05 QItRAE =S 2,571,140 0 2,571,140
OXYtsEsd2IN2 29 2,571,140,000& 2,571,140
J| 1,285,570
Al 1,285,570
ANAotsEsd2I2 2L (MMM A) 601,115 33,000 568,115
307 212t01 & 601,115 33,000 568,115




EIEEPNE kKol
S=EX 2
28 25 - |4

x
Y 2H

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
11 AMSIEXNAEEES 601,115 33,000 568,115
OO SESEIINZ BALM SXE=(HRMA)
150,000& x50 +200, 000& » 15H 10,500
OO=sESE2I|Z SAX BSEZIH(HRME)
200,000& »45H 9,000
OOtsESd2I2 SAA €228
13,000,000& 24! 26,000
OOSESHERIZ AR LSEFHI(HRMHA)
555,615,000& 555,615
stioiciots&E e 24 XN& 396,987 359,300 37,687
J| 158,795
Al 238,192
308 At XIHHMS0I& 396,987 359,300 37,687
Jl 168,795
Al 238,192
01 HXEHMBAEES 396,987 359,300 37,687
OstiiIioiots& H 2Ll - 128l - Ar
396,987,000& 396,987
J| 158,795
Al 238,192
stmloiotsaEE 29 KNI (XMIHE) 33,716 57,660 A 23,944
308 At XIHHMS0IH 33,716 57,660 N 23,944
01 HXEHMBAEXS 33,716 57,660 N 23,944
OSHIlHOtS&EH SAA LS E2HHI(HRMA)
31,616,000 31,616
OSUIIHOtSEE SALL SXUE (M)
150,000& *6H +200,000& »2H 1,300
OSHIIHOtSEEH SAIA SELTH(HRMA)
200,000& »4H 800
ABISENME X3 29,848 27,905 1,943
= 29,848
01t 3 29,848 27,905 1,943
= 29,848
08 Al Z2RRIAB LS 29,848 27,905 1,943
os3 26,208,000 26,208
= 26,208
On st 2,746,000 2,746
= 2,746
o1l =l 297,840 »34! 894




A3 23=X 3
2 AN orssx
H oM AU 25 -S4 (et &8
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
2 894
AMNI=SLHE XS (XMHE) 6,336 6,048 288
301 L2 Z 6,336 6,048 288
08 A ZRRAEBLS 6,336 6,048 288
OZAld| 6,336,000 6,336
HF2FZH 1,167,117 1,114,643 52,474
olAAY(Ots=sX2) 1,101,575 1,051,234 50,341
el 2l 1,101,575 1,051,234 50,341
101 @124 i 1,065,875 1,013,434 52,441
01 2 945,819 896,784 49,035
oss 721,332
L= 8,204,000& x 18 +123 98,448
obg 6,394,000 x2E 123 153,456
°6=5 4,080,000& 4Z 123 195,840
o7g 3,257,000 7 +12& 273,588
OFSE=El=; 39, 119,000& *50%*22] 39,119
O&E=g 9,840
< Hf L Xt 40,0002 *11E »12& 5,280
o Z&EHIH 20,0003 108 +123 2,400
=2xtH 60,0002 x3F 123 2,160
OFZ2=glt=a 11,520
=253 0] & 130,000& 3 x12& 4,680
=20~25E 0] 8¢ 110,000 »3E x12& 3,960
=15~204 0] 2t 80,000 x1H »12& 960
= 10~15E 0] 8¢ 60,000 x1H »12& 720
=5~10= 0] &t 50,0003 x2F 123 1,200
Ootlis=% 5,783
°6=3 4,200,000 x2H *0.041+12& 4,133
o7g 3,352,000 »1H +0.041x12& 1,650
OS2+ 11,640
oA EXNY Y 70,0003 x108 123 8,400
S A SXNGExE Itet= 30,000 x7H »12& 2,520
oJ|lsdEsY 30,000 x1H +123 360
cll=Z2+Y I3 30,000 x1H »12& 360
OxuU=22+8 67,506
o Y BHE (53) 14,0723 x2B #37 Al 2t 128 12,496
o dBHE (63) 12,0023 *4H «37 Al 2+ 128 21,316




CCET
B - 9 (312) - NRAY - BES 0l &+ o HI RS 2
(73) 10,8413 x7H «37 Al 2t + 128 33,694
gl 140,000& x14H 128 23,520
gl 39, 119,000 x60%*2& 46,943
gl 60,111,000 *86%*52 »1/30 8,616
2= 120,056 116,650 3,406
4,310,000& 2% 123 103,440
gl 140,000 »2H x12& 3,360
1,440
40,0003 «1H « 128 480
20,0003 x1H x123 240
60,0003 x1H » 128 720
=g 10,8413 x2H «37 Al 2b %128 9,627
gl 8,620,000 *86%*52 *1/30 1,236
=3 119, 103,000& *0.8% 953
gl 35,700 37,800 22,100
ENa]l 35,700 37,800 A2,100
400,000& «1H =128 4,800
250,000& »2Z «12& 6,000
165,000 »6H x12& 11,880
155,000 »7E 128 13,020
2) 65,542 63,409 2,133
65,542 63,409 2,133
38,655 36,522 2,133
]l 11,380 9,247 2,133
=g =ZH| 8,500, 000& 8,500
=3 Sl 2,880,000 2,880
02 22242l 27,275 27,275 0
ES | 14,395
= 10,800, 000& 10,800
ERa 1,800, 000& 1,800
=, REE S 960,000 960
Al 200,000& 200
282 S 560,000 560
-AIEE SHEtl 75,000& *13] 75
= Xl 9,980
HIAIAE 150,000& x12& 1,800
H SXE= 100,000& 122 1,200
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